B FE W il AEBEREHFEREBRRE (KR 1 9 E)
HES A 41 54 64 7R 8A 94 104 114 124 1A 2A 3A ¥
Fﬁﬁ, - 3HEMD 4 ARMD 5 HER» D 6 HER» b 7THE»PD 8 HERM» b 9 HEND L0ARMS 1LAR? D 12ARDD 1ARDPD 2HARDD =
4 ARET 5 HKZE T 6 HRET THRZT 8 HRZET 9HKZET 10HKET ILARET 12AKET LARET 2HERET 3HEKRET

BEEFIZOCAE 4.7 2.4 4.7 8.3 2.1 3.3 3.4 1.9 3.0 2.4 2.6 6.6 3.78
[2E243 AR E & 2.7 1.0 0.8 0.6 0.6 0.6 0.9 1.2 1.4 1.2 1.1 2.7 1.23
%ﬁ TAAREVE Y B 2.0 1.4 3.9 7.7 1.5 2.7 2.5 0.7 1.6 1.2 1.5 3.9 2.55
= P H 5.8 6.8 6.8 6.5 6.2 5.6 6.3 6.3 6.7 6.6 6.5 6.0 6.34
liid & 11, 000 5, 000 6, 600 17000 9, 300 24, 000 9, 500 11, 000 4, 500 6, 000 5, 300 9, 500 9, 892
N BEEFIZOCAE 2.6 1.4 4.2 7.5 0.6 1.9 2.2 0.8 2.0 1.8 1.9 6.1 2.75
%‘“; AR E & 0.8 0.6 0.2 <0.1 0.1 0.1 0.4 0.4 0.7 0.7 0.7 2.1 0.62
koY) TAAREVE Y B 1.8 0.8 4.0 7.5 0.5 1.8 1.8 0.4 1.3 1.1 1.2 4.0 2.18
B — P H 5.6 6.4 6.7 6.6 5.6 5.6 6.1 6.1 6.3 6.4 6.3 6.0 6. 14
W & 11, 000 5, 200 7, 200 18, 000 8, 300 24, 000 9, 700 12, 000 4,700 6, 100 5, 400 9, 700 10, 108
BEEFIEWCAE 5.5 2.5 4.9 8.2 1.9 3.3 2.4 0.5 1.9 2.2 3.1 6.5 3.58
é. RIBfRIEE & 2.4 0.9 0.1 0.7 0.6 0.5 0.3 0.5 0.6 0.6 1.4 2.0 0.88
INE TR B 3.1 1.6 4.8 7.5 1.3 2.8 2.1 <0.1 1.3 1.6 1.7 4.5 2. 94
=R P H 6.1 7.2 6.9 6.8 6.4 6.0 6.5 6.5 6.6 6.7 7.1 6. 4 6. 60
W & 12, 000 5, 300 7, 700 18, 000 8, 300 24, 000 10, 000 11, 000 4, 800 6, 100 5, 700 10, 000 10, 242
BEEFIZONCAE 4.0 1.6 4,2 7.5 0.9 2.5 1.9 0.5 1.6 1.7 1.7 4.6 2.73
é YR E B 1.7 0.7 0.2 0.2 0.3 <0.1 0.4 0.4 0.5 0.7 0.9 1.4 0. 67
N VBRI E B 2.3 0.9 4.0 7.3 0.6 2.5 1.5 0.1 1.1 1.0 0.8 3.2 2.11
ok P H 5.4 6.8 6.8 6.7 6.0 5.4 6.3 6.2 6.4 6.4 6.2 5.9 6.21
W & 11, 000 4, 600 7, 100 16, 000 8, 400 24, 000 9, 600 11, 000 4, 500 5, 800 4,700 9, 300 9, 667
BETIEONCAE 4.2 2.0 4.5 8.0 1.4 2.9 2.5 1.0 2.1 2.0 2.3 6.0 3.24
AR REY S 1.9 0.8 0.3 0.5 0.4 0.4 0.5 0.6 0.8 0.8 1.0 2.1 0. 84
FEIE TAIRVEY B 2.3 1.2 4.2 7.5 1.0 2.5 2.0 0.4 1.3 1.2 1.3 3.9 2.39
P H 5.7 6.8 6.8 6.7 6.1 5.7 6.3 6.3 6.5 6.5 6.5 6.1 6. 32
ke fie 11, 250 5, 025 7, 150 17, 250 8, 575 24, 000 9, 700 11, 250 4,625 6, 000 5, 275 9, 625 9,977
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